(c)

(b)

(a)

Tolerance (Tyc)

O
oN

| <

AN

| O

N

| O

—
T T T T T T T T T
=2 =2 =2 =2 ° 0 wn wn wn
o o ) o o o o o o
o o o o o (@) o o
[e0) O < N AN < (e} 0

Tg]

—

S1 parameter

mi parameter

|
—
o
T T T T T T T T T —
=2 =2 = =2 ° wn wn wn wn
S 05 5 5 ° 5 5 &5 b5
o o o (@)
o0} (e} < o oN < (o) (e0)
<t
- ON
e, )
jﬂ N
|
*
| <
|
)
c
(0]
.mm -4
0
>
no.mm IIIIIIIIIIIIIIIIIIIIIIIII
%lwp
S +mE | o0
1
1B
: o
T T T T T T T T T —
zZ =z =z zZz o n unu un n |
o o o ) o o o o o
(@) (@) o (@) o (@) (@) o
(e0) (o) < o (@ < (o) (00}

apnie

Resilience [°C] Temperature [°C]

Temperature [°C]

Tolerance (Tyy)

(f)

S, parameter

(e)

(d)

25

80°N -

60°N A

40°N A

20°N

0°-
20°51

40°S

60°S +

80°S

10

80°N -

60°N A

40°N A

20°N

0° -
20°5 1

40°S

60°S 1

80°S

m», parameter

80°N A

60°N A

40°N A

20°N -

T
o
o

20°S

spnie

40°S A

60°S +

80°S A

Resilience [°C] Temperature [°C]

Temperature [°C]



